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Our analysis draws on various months of 2005 Current Population Surveys (CPS) data. We start with the February 2005 supplement sample and merge in individual level information from other CPS months to create the final data set for analysis. The first step is to establish the validity of our method of matching CPS months as there are no unique person level identifiers included on the surveys.

Matching March, April, May (monthly basic) to the February Supplement. 


Matches are conducted on the following variables: hrhhid hrmis gestcen pulineno prfamnum pesex prdtrace (household id, month in sample, state, person line number, family number, sex and race). We dropped observations in a very few cases where there were multiples of these values. In the entire April survey, there were only 130 such instances. In the February survey, there were 84 such observations. Next, we only kept observations in the sample months in which we expected to find matches. These are people in sample months other than 1, 2, 5, and 6 in April. This meant dropping a further 77,076 observations in the April sample. In the February survey, we collect those whom we would match based on the month of the survey (after deleting the 84 cases above). For example, when matching the February and April surveys, we keep all but those in months 4, 8, 3, and 7. We merge the two data sets on the variables described above (hrhhid hrmis gestcen pulineno prfamnum pesex prdtrace). We find 82.5 percent of our observations are a match (70,367) while 8.8 percent are only in either the April or the February sample. This is likely to happen due to moves etc. (Madrian and Lefgren 2000). 
To rule out people who we matched due to incorrect coding, house moves etc., we calculate the difference between their reported ages in the February and April surveys.
 In doing so, we risk excluding a true match if age was incorrectly coded in one survey while the matching variables themselves were coded correctly.  We find that in about 98.6 percent of our cases ages are within 1 year of each other.  We delete observations where age increased or decreased by more than one year between the surveys. Of our 69,399 matches, 85.92 percent are exactly the same age, 13.78 percent have an age differences in the expected direction and only 0.30 percent have an age difference in the unexpected direction (getting younger between February and April).


For matches between May and February, we drop 127 observations due to non unique matching variables. We keep those in months 4 and 8 as these are the individuals who would have been in the February survey. We change their month variable back by 3 months to match February. When we match to the February sample, we find that 77.34 percent are matches based on our matching variables while 11 percent are in only one of the months. The total matched sample is 33,779 observations. Close to 99 percent are within one year of age of each other. Of these 33,101 people, only 0.39 percent have aged in the unexpected direction. 


When we match the February responses to March responses, we drop 84 observations due to non unique matching variables. We keep all but those in months 1 and 5 as they were not present the previous February. We find that 87.7 percent of individuals are in both surveys while about 6 percent are in only one of the survey (7,912 and 7,323). Of the 108,723 people who are in both, we find close to 99 percent are within one year of age. Of these 107,880, only 0.23 percent have aged in the unexpected direction.

Merging the February Supplement with Other Months


To put the data set together, we take the April, May, March files and keep only the outgoing rotation groups (whose wage rates we seek). We keep only those with positive hours reported (pehrusl1) and positive weekly earnings (prernwa). We generate an hourly wage using weekly earnings divided by the weekly usual hours, and adjusting for inflation from March to February by multiplying by (191.8/194.6). If they report an hourly wage (prernhly), we use that instead of the calculated wage (adjusted for inflation in the same way). If they say their hours vary, then we only use their reported wage rate. This becomes the file that we use to merge into the February data. 


When matching the February data to the other months, we drop those from a February month in which a merge was expected but none was found. For example, if a person is in month 3 or 7 in February and we don’t find their match in March (they would have been in month 4 or 8 in March and thus in the outgoing rotation), then we delete them from our sample since there is no way of obtaining their hourly wages. Looking at the age difference of our matches, we drop those whose ages not within one year of each other since those matches are likely to be erroneous. We then match to the other outgoing rotation group data in a similar manner. 


We add a few further sample restrictions before finalizing our sample. We first limit the sample to those who are aged 17-64. Next, we consider the monthly labor force recode (pemlr) and limit the sample to those who are employed and at work. We then look at the sector in which they work and keep private sector non self-employed workers. We then drop any persons who are not asked the February supplemental questions according to the codebook (prsuptyp==2). We also delete observations that are non interviews (hrintsta =type 2 non interview). We then match our remaining sample to the March CPS to get their family income and firm size in 2004, the closest available year. The variables we used to match to March (hrhhid hrmis gestcen pulineno pesex prdtrace) are different from the earlier set (hrhhid hrmis gestcen pulineno prfamnum pesex prdtrace) by the lack of the variable prfamnum but there are only 2 observations that do not match uniquely by the second set of variables but do so using the first set of variables. 

The data set now contains our core sample of workers from the February survey who meet our age, hours, wages, sector, etc. requirements, for whom wages were collected from other months. We then use family income as reported as fractions of the applicable poverty level to create categories for our analysis using our matched data from the March supplement survey.

We create February insurance status using the supplemental questions. The survey first asks if one has health insurance from any source (pes49). We limit the sample to those with “yes” or “no” recorded. Those who say “no” to this form the sample of uninsured workers. Then, one is asked if the coverage through the employer that has been mentioned (pes50). A few say “don’t know” or don’t respond or refuse to respond (less than 100 total). These people are dropped from the sample, as there is no way to know their type of health insurance. Those who say they are covered by their own employer are asked (pes50a) a hypothetical question: if you were not covered by this employer, could you have been covered by another source? Those who reported their health insurance is not from an employer (pes50=2) are asked how they obtained coverage (so those with pes50= “don’t know” are not asked if they have any other source and are dropped from the sample). If one does not have own employer insurance, they are asked if their employer offers to any workers in their firm (pes53) and whether they were eligible for this coverage. Of those who say they have health insurance, many say they received it from the employer, while a smaller number says it is from some other source (pes50). The remaining people who say they don’t know or refuse to answer are also not asked any of the follow-up questions about type of health insurance so we exclude them from the sample. Those who said that they are covered by the employer in pes50 are asked if the employer did not offer health insurance, whether they would get covered by another source. They are also asked if they pay for all, none or some of the premium. Those who said they did not get employer health insurance (pes50=2) are asked whether they have received health insurance from other sources. In these other sources, employers are mentioned again as a possibility. Of these, a few say that it is an employer (so they are added to the employer pool). There are also some others (few say “through my own job”, “through a job”, “through a previous job”, or “labor union”). These are added to the own employer group. There are a few who refuse or do not know the answer to this question, and they are dropped from the sample. 94 percent of those insured through another family member than a spouse are under age 25, so this appears to be dependent coverage through parents. Those who say “association or club”, or “school” are included in individual purchased. There are a few remaining who say “other” and are dropped from the sample.  

Weighting the Sample up to a Population Total


There were 147,649,000 in the U.S. civilian workforce age 16 and over in February 2005 according to the Bureau of Labor Statistics (Series id#LNU0100000, extracted August 2007). The number of people represented in the February 2005 supplement is close to this (148,389,002, the sum of the weights used for this purpose). Once we limit our sample to those age 17 to 64, we get 142,190,666. When we next limit our sample to those who are present at work (pemlr=1), it falls to 129,545,706. Finally, when we limit our sample to those in the private sector (not self employed), our final sample size is 96,940,624. This is the population total to which we weight up our results. 
Below, we show the sources of missing data responsible for our loss of 22,392,971 in the weighted population:

- 19,427 because the hours worked are reported as zero in the February supplement

-13,360 because of non-uniqueness in matching variables.

-2,683,397 because of inability to find a match to the March ORG (note that the vast majority of these are to be expected, due to the rotational structure of the interviews).

-3,865,396 because of inability to find a match to the April ORG.

-4,923,075 because of inability to find a match to the May ORG.

-2,753,773 because they are missing a wage rate.
-1,901,543 who do not match to the March supplement

-3,773,954 because they are missing insurance status (yes/no).
-1,106,521 because they do not report type of health insurance.
-1,335,770 because they are missing firm size.
We re-weight our final sample to account for these missing data by multiplying our totals by 1.300385. (96,940,624/74,547,653). Note that some of those who are dropped from the sample due to lack of a match to March or other months (when a match was expected) are likely to be those in less stable living arrangements and thus more likely to be uninsured. The weighting structure of the CPS is such that those who are more difficult to sample have greater weights, so relative to the unweighted distribution, the weighted distribution includes a greater share of the uninsured. However, these sample selection rules should be kept in mind when interpreting the data (i.e. that it pertains to those whose information was available in the CPS).

� Age is not used as a matching variable as people can have birthdays in between months.
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